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Answers to Student Book text questions





Chapter 1.3





2    Sensitive, so small samples can be used; sensitive, so very accurate results;


differentiates between similar compounds; rapid, so allows analysis of many samples quickly; helps focus research on useful chemicals; identifies breakdown products, so scientists can check no harmful ones are produced; makes analysis of purity quick and easy.
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1





The relative atomic mass of iron is 55.91





2    a   78Kr 0.094; 80Kr 1.6; 82Kr 9.83; 83Kr 9.95; 84Kr 47.83; 86Kr 14.60





b   83.9
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NB  this graph will affect answers 2 and 3





2





a





b





c





29 000 years





7 000 years





5 100 years





84 to 86% 14C; 79%





3





53





Time since organism died (103 y)
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5.84
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91.68
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2.17
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0.31








